




































43. i) The cost of establishment is too high.
ii) The output of single windmill is quite low and cannot be used for commercial
purpose.
iii) The wind speed should be higher than 15 km / hr which is not possible in all the
seasons.

44. In this picture, 2 n, 1 n are in parallel this can be reduced as
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The circuit is reduced as , 3/ 2 n , 2 n, 3/ 2 n are in series. 
So effective resistance across A to B is Rs

= R1+ R2+ � 
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45. The power of a lens is defined as the reciprocal of its focal length. It is represented
by the letter P.

The power P of a lens of focal length f is given by P = 1/ f 
The SI unit of power of a lens is 'dioptre'. 

46. By changing slip ring into split ring.

47. (ii) Both (A) and (R) are correct but (R) does not explain A.
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52. a) i ) Nitroglycerine

PART- Ill

-4 moles

ii) Gas molecule produced- 12 + 6 + 1 = 19 moles.

b) 1 mole of nitroglycerine is= 19 / 4 = 4. 75 molecules.

c) Mass of nitroglycerine = Molecular mass X mole

= 227 X 1 

= 227 g.

53. i ) Alkynes:

• General formula- Cn H 2n-2 

• Suffix - -yne
• The hydrocarbon containing carbon to carbon triple bond are called alkynes.



• Alkynes are named in the same way as alkenes. i.e., by replacing suffix- ane of

alkane with -yne.
• Ex- Ethyne, Propyne

ii) If the molecular mass of an alkyne is 54, then its molecular formula is C4Hs

PART-IV 

F G m1 m2 
54. a d2 

i) Force will be increased (Force is directly proportional to mass )

ii) Force will be reduced half of its previous value ( Force is inversely

proportional to distance of the bodies)

iii) Force can be Doubled. (Force is directly proportional to mass )

(b) Relationship between G and g

GMm 
F = -;.z ---------- ( 1)

According to Newton's second law of motion 

F= mg ----------- (2) 

Equating (1) and (2) 

GMm 
- =mg

R2

GM 
g =-

d 

'g' is independent of the mass of the body 'm' but, it varies with the distance from the 

centre of the earth. If the earth is assumed to be a sphere of radius R, the value of 'g' 

on the surface of the earth is a constant 

55. a) (i) The object is always placed to the left of the mirror.

(ii) All distances parallel to the principal axis are measured from the pole of

The mirror.

(iii) All the distances measured to the right of the origin (along +X axis) are taken

as positive while those measured to the left of the origin (along -X axis) are

taken as negative

(iv) Distances measured perpendicular to and above the principal axis (along

+Yaxis) are taken as positive.

(v) Distances measured perpendicular to and below the principal axis (along -

Yaxis) are taken as negative.




















